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Answer either in English or in Assamese.
1. Answer the following questions as directed :
1x5=5
weTe fal et For SR See a8

(@) Under what situation group
replacement policy is considered ?

& Ao F «fogem A Reva =t

J?
(b) Define objective function of an LPP.

d51 @71, 31, 313 SomrTee FRGT ket
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(c)

(d)

(e)

What do you mean by the terme ‘slack’
in connection with critical path

analysis?
frforEe 219 Rt 719oe ‘@ SueoiE o1
&e

If the value of the objective function Z
can be increased or decreased
indefinitely, such solution is called

(i) bounded solution
(ii) unbounded solution
(iii) solution
(iv) None of the above
(Choose the correct answer)

i SRR 1 Z 3 W wRHSeE 3 A
7 FRA AR (0% G TN 7
(i) SRR AL
(i) N TN
(iii) NG
(iv) 85T B8 7= |
(v% Ceh! % GAea)

The time represents the longest
time the activity could take if everything
goes wrong. (Fill in the blank)

I IR e (V' BRI
T o[ AIZeE 7Y AR afeRidy F|
(T 32 o479 )
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2. Answer any five questions from the

following :

2x5=10

oY ST Al i #ibhI9 Sex g

(a)

(b)

()

(@)

()

(9)
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State two important characteristics in
network analysis.

o5 Resem 75 aoFgslf aRe See 31|
What are the situations which make
the replacement of items necessary?

& sAffceTe ol W S Fa e
e

Define ‘slack’ and ‘surplus’ variables.
‘I OIF BIRAD beieR el |
Explain the concept of feasible solution.
TRIAT AN LIFAICO! A 3y |

What are the four categories of activities
In network diagram?

T3F SRS IS BB (AT P
& &2

State any two replecement models.

R 751 &ifegIsi Tai St 41
State the basic steps in CPM technique.

f5. 1. «%. Reige & swewoPhE o)
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(h) Explain how would you test whether a
basic feasible solution is an optimal

solution or not.
.. @B G ST TN O SFe TN
= (N T (AT S S, Y A
(i) Distinguish between free float and
independent float.

& F OIF I FH' I W ALy Ko

4|
() We know that the best period for the
total replacement is given by

oifst ot (@ I ST A AT
RPN C20R

A+Cy+Cu+...+C,_v""!
l+v+0v? +...+0"!

R=

Interpret the expression of the right-
hand side.

iR SfsTfenia & @R o

3. Answer any four questions from the
following : 5x4=20
oo ePTIEE o1l Rzt bif! ea Tes fm ¢
(a) A machine costs Rs 9,000. Annual

operating cost is Rs 200 for the first
year, and then increases by Rs 2,000
every year. Determine the best age at
which the machine should be replaced.
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(b)

(c)
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If the optimum replacement policy is
followed, what will be the average yearly
cost of owning and operating the
machine?

(Assume that the machine has no resale
value when replaced and that future
costs are not discounted.)

<51 FF W 9,000 5l | S ARG 395
A4 9 AR 200 T OF Pre oS Iz
2,000 BiCF J% A1 | THCH! FeT SRIETN
Fedfew T e 91| ey g eifogiom
NS PRt I W (ST THE! AW W
SIIPEHIR AT ILIBIN A6 A 79
(¢RI @ TWOR 571 [RE 77 40 e
SRITST I @A ([T FD)

Explain the critical path method (CPM).

fforee 7Y o&fs (CPM) Ressd o1 |

Solve the following LPP graphically :
@ ARSI Oo @, . f34-CB1 STiam =t ¢

Maximize Z =2x; +3x,
(e )

subject to X + X, £1
(Tgiwe) 3x +x, <4

Xy, X9 20

Contd.



(@)

(e)

Describe the simplex procedure for
solving LPP.

Bce e Wbt ¥st. e 5 (FEE T

T 7 3091 4 |
Explain basic assumptions of an LPP.

GBi @1, 9. (-7 TS SsiweTeIR I 4 |

() Find the basic solution of the set of
equations.

©ER AN 7O IR SN et |

2x; +4xy, —2x3 =10
10x; +3xy +7x3 =33
(g) Illustrate the cencept of individual

replacement policy with the help of a

numeric example.

NfASIE BT SRITS JT&ars 2SIl Nfox

LR 1T | :

(h) Explain the method of drawing network
diagram.

o5 o ST a1 ATISCH! YT |
Answer any one question from the
following : 10x1=10
O HIPRDIR o[ Riepicar «brq Oes fm ¢

(@)

Draw the network diagrarh from the
following activities and find critical path
and total float of activities.
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T FRIAIAT #11 Fo3F B S5y 51 s
PRI BT AN oI I5 5 Sy

Job ~Job time Immidiate
) (days) predecessor
ZW I o () otew s
13 —
B 8 A
C 10 B
D 9 C
E 11 B
F 10 E
G 8 D, F
H 6 E
I 7 H
J 14 G, I
K 18 J
(b)) () State the general linear
programming problem. 4
A (IR 2Acelfaie SFETIe! S 5|
(i) Solve the given LPP graphically :
6
O @&, B, -G @141 e igm
48
Minimize Z=20x+10y
(Jvos 3F0)
Subject to, x+2y <40
(TFe) 3x+y>30
4x+3y <60
x20, y20
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() With usual notations, establish the
situation for group replacement
rhethod.

@6 &Aoo afet AR BT IS I
ANFCOR A «RER g T4

(d) Define the following terms used in
CPM:

were S 7 o B un-5 e W
et faa ¢
(i) Network
QRS
(i) Dummy activity
OEiES RIS
(iii) EST
Tag o
(iv) LFT
«d. 9%, ©
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